Best model for HELP J115458.874+013826.066 at z = 0.342 x2=0.74
OPTx2=0.72 IRx?=1.21 threshold (OPT IR)=10.73 [um]

102 E Stellar attenuated
= 1 Stellar unattenuated
] —— Dust emission
1 m —— AGN emission
101 e m = Model spectrum
E \ ® Model fluxes
1 M oObserved fluxes
— 0 E
= 10 § :
E :
5 1071 5 :
E E ‘l!ﬁ""r-_mh\jyrr-»ﬂ"‘"— TN s
1072 5 N
.
1073 4
bad E
=) ]
q_— 1 .
S ] A —}— (Obs-Mod)/Obs
S ]
s ]
8 0 --3fHlN-—-—-—-———o—o - o e e E e
) ]
S ]
5 ]
© -1 T T T T T T T T
& 100 10! 102 103 104

Observed wavelength [um]

CiGAL



